
0, 5.

1, 3, 5, . . . , 1, 4, 7, . . .

674.
1 + 2n 1 + 3n.

6n 6n � 4 n 2 N. 6n
2022
6 = 337, 6n� 4 337 · 2 = 674.

102022 � 92022.

119.
A = 102022�(10� 1)2022 = 102022�102022+2022·102021�C2

2022 ·102022+. . .+
C3

2022 · 103 �C2
2022 · 102 +C1

2022 · 10� 1, A (mod 1000) ⌘ �C2
2022 · 100+C1

2022 · 10� 1(mod 1000) ⌘
�2022·2021·100

2 + 20220� 1(mod 1000) ⌘ �100 + 220� 1 ⌘ 119.

X
X

A B C
t = AC

50 + BC
40 = pAC + qBC = q(pqAC +BC), p = 1

50 , q =
1
40 .

p
qAC + BC.

D, AD q · s : 2 s
D p · s,

E AE BF
C

p
qAC+BC AFC AED

CF/AC = DE/AD = p
q , CF = p

qAC,
p
qAC + BC = BF.

M p
qAM + BM, p

qAM + BM = KM +MB,
KM K AE KM +MB > BK > BF.

L BCL ACF
CL = BL·CF

AF . CL = 12 AC = X = 3.

x

a = x3 � 100x, b = x4 � 16, c = x+ 20� x2



a, b, c v u 6 v 6 w

�10 < x < 0 2 < x < 5, x > 10

A

y = �3x2 + 2 x = �4y2 + 2
p
697
24

x2 + 1
3y �

2
3 = 0 y2 + 1

4x� 1
2 = 0

x2 + y2 +
1

4
x+

1

3
y � 7

6
= 0 ()

✓
x+

1

8

◆2

+

✓
y +

1

6

◆2

=
697

576
.

�
�1

8 ;�
1
6

� p
697
24 ,

()
(())

(()()) ((()))
((())())

(()(()))

⇧n n

⇧1 = 1,⇧2 = 1,⇧3 = 2,⇧4 = 4,⇧5 = 9,⇧6 = 20,⇧7 = 48,⇧8 = 115,⇧9 = 286,

⇧10 = 719.

⇧5 :
⇧5 = P4 + P3 + P2 + P1, Pk

k
P4 = 1
P3 = 1
P2 = 3
⇧3

P4 = ⇧4 ⇧4

n
⇧3 ⇧3 ⇧1 ⇧3 ⇧2 ⇧2

⇧3 · ⇧2 · ⇧2 = 2 · 1 · 1 = 2 ⇧3 · ⇧3 · ⇧1 = 2 · 2 · 1 = 4
















